
Multiply by Powers of Ten (D)Find each product.
85 × 10 = 60 × 100 =
36 × 0,1 = 18 × 10 =
71 × 0,1 = 92 × 10 =
8 × 10 = 94 × 0,01 =
31 × 0,1 = 46 × 1.000 =
63 × 1 = 71 × 0,1 =
53 × 100 = 86 × 1 =
25 × 0,01 = 45 × 0,01 =
48 × 1 = 29 × 0,01 =
81 × 1.000 = 93 × 0,01 =
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Multiply by Powers of Ten (D) AnswersFind each product.
85 × 10 = 850 60 × 100 = 6.000
36 × 0,1 = 3,6 18 × 10 = 180
71 × 0,1 = 7,1 92 × 10 = 920
8 × 10 = 80 94 × 0,01 = 0,94
31 × 0,1 = 3,1 46 × 1.000 = 46.000
63 × 1 = 63 71 × 0,1 = 7,1
53 × 100 = 5.300 86 × 1 = 86
25 × 0,01 = 0,25 45 × 0,01 = 0,45
48 × 1 = 48 29 × 0,01 = 0,29
81 × 1.000 = 81.000 93 × 0,01 = 0,93
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